- Rational Root Theorem

Let P be a polynomial function with integer coefficients in standard form.

If d is a root of P(x)=0, then p is a factor of the constant term P

q
and q is a factor of the Ieading coefficient of P.

Example 1 r-9x"+3x*—x+8=0 Standard form?
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IF there is a rational root, then it will be in the form of = a

COPY this!
where p is a factor of the constant term and q is a factor
of the leading coefficient.

factors of leading coefficient is on bottom
factors of last term are on top.

What are all of the POSSIBLE rational roots?
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Ex. 2 State all possible rational roots.
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Let's use all of our knowledge to find the roots of the following problems.
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Yes, -3 is a root!
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Find all zeros of the polynomial function. ,M X
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